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Mega test of physics, class -10th, M.M.-40
Q1. Name the type of mirror used in the following 3
(a) headlight of car (b) rear view of a vehicle (c) solar furnance
Q2. Why does a light ray incident on a rectangular glass slab immersed in any
medium images parallel to itself explain using a diagram. 3
Q3.(i) what are the indications of negative and positive signs in the value of the
magnification?
(ii) in a concave mirror where should an object be placed to obtain an image of real
inverted and reduced in size to the object?

(iii) what type of lens in air bubble inside water?

(iv) minimum size of a plane mirror required to see a full size image 4

Q4. State the laws of refraction of light explain the term absolute Refractive Index of a
medium and write an expression to relate it with the speed of light in vacuum. 3

Q5. Explain why A Ray of light passing through the centre of curvature of a concave
mirror gets reflected along the same path 1

Q6. what I defect is hypermetropia describe with the ray diagram how this defect of
vision can be corrected by using an appropriate lens 3

Q7. (i) Give one advantage of scattering of light

(ii) why do true solutions not show tyndall effect

(iii) what is the function of iris 3

Q8. (i) draw a ray diagram to show the refraction of light through a glass prism in the
diagram make the following: angle of emergence ,angle of deviation ,angle of incidence
,emergent Ray.

(ii) what is atmospheric refraction use this phenomenon to explain the natural event
twinkling of stars

(iii) draw a diagram to explain formation of rainbow 5

Q9. Why does a magnetic compass needle pointing North and South in the absence of
a nearby magnet get deflected when a bar magnet aur a current carrying loop is
brought near a describe some silent features of magnetic lines of field concept.3
Q10.(i) When does an electric short circuit occurs

(ii) when is the force experienced by a current carrying conductor placed in magnetic
field largest. 2

Q11. What is induced current? Explain different ways to induce current in a coil?3
Q12. What are the advantages of connecting devices in parallel with the battery
instead of connecting them in series? 2

Q13. (i) Why does the cord of an electric heater not glow while the heating element
does

(ii) define the unit of current

(iii) define heating effect of current. 3

Q 14. ()What is a good fuel

(ii) what are the limitations of the energy that can be obtained from the oceans give
only two limitations. 2
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Q1. the magnification produced by a plane mirror is +1.what does this mean 2
Q2. Array of light travelling in air enters obliquely into water .does the light ray
bend towards the normal or away from the normal? why?1

Q3. (i) which mirror has larger field of view

(1) name the type of mirror which always forms a virtual and diminished image
(11) what i1s the angle of reflection when a Ray of light falls normally on a plane
mirror.

(iv) under what condition a lens become invisible when placed in a transparent
liquid 4

Q4. Why does a Ray of light parallel to the principal axis

(1) bend towards the principal axis in the case of a concave mirror and

(i) goes away from the principal axis in the case of a convex mirror as shown
here?

(i1i) Draw a ray diagram to show the image formed when an object is placed
between pole and focus of the mirror.3

QS. ()why there is no Dispersion of light refracted through a rectangular glass
slab

(1) why do different rays developed differently in the prism

(111) what is the cause of dispersion?3

Q6. What is mean by scattering of light use this phenomenon to explain why
the clear sky appears due or the sun appears reddish at sunrise.4

Q7. (i)Draw the formation of rainbow in the sky

(1) draw a labelled ray diagram for correction of myopia using the lens 3

Q8.(1) Why are coils of electric toaster and electric irons made of an alloy rather
than a pure metal

(1) on what factors does the resistance of a conductor depend

(111) define the unit of current and 1 watt. 5

Q9. (i) why is the tungsten used almost exclusively for filament of electric lamp
(1) why are Copper and Aluminium wires usually employed for Electricity
Transmission.

(i11) to the same current flows through line wires or the filament of a bulb get
only the latter glows why?3

Q10. (1) state Fleming's left hand rule

(i) state different ways to induce current in a coil

(11)) why do two magnetic field lines of force never intersect each other 3

Q11. What is an electromagnet? Draw a circuit diagram to show how a soft iron
piece can be transformed into an electromagnet 3

Q12. (iHow can the magnitude of the induced current be increase

(ii) explain principle of electric motor 2



